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)
WORK AND WAGES (dk; Vkj etnjh)
(CLASSROOM SHEET)

~

A and B can complete a piece of work in
15 days and 10 days respectively. They
contracted to complete the work for
¥ 30,000. The share of A in the contracted
money will be:

A Vkj B @e"h 15 fnuk vk 10 fnuk e ,d dke
ijk dj Idr gh migku 30]000 :-i; e dke jk
dju dk vuc/ fd;k vuct/r /u e A dk fgLlk

gkxk &
(a) ¥ 16,500 (b) ¥ 12,500
(c) ¥ 18,000 (d) ¥ 12,000

A man and a boy received T 800 as wages
for 5 days for the work they did together.
the man's effeiency is twice of the boy.
What are the daily wages of the boy?

,d i#% rik ,d yMd dk 5 fnuk rd Bk dke
dju d fy; 800 feyr gh i#% dh dk; {kerk
yMd dh dk; {kerk dh nkxun g] rk yMdk<ifrfnu
fdru #1; dekrk g\

1 1
a) T 53 b) T 56 —
(a) 3 (b) 3

1 1
c) T 44 d) T 40
(c) 3 (d) 3

A can finish a work in 15 days, B in 20
days and C in 25 days. All these three
worked together and earned 34,700. the
share of C is

A ,d dk; dk 15 fnuk e] B, 20 fnuk e Vvkj C,
25 fnuk e 1jk dj Idrk.gh 5 riuk,d L feyd]

dk; djr g vk %4]700. dekr gh c dk fglLlk

D;k g\
(a) ¥ 1,200 (b) ¥ 1,500
(c) ¥ 1,800 (d) ¥ 2,000

A and B can do a work in 10 days, and 15
days respectively. A and B work together
for 5 days and remaining work is done by
C in two days. If they are paid ¥ 6000 for
this work, then find daily income of each?
A Vvij B ,d dk; dk 10 fnu vkj 15 fnu e djr
gt A rFk B nkuk ,d Dk 5 fnu rd dke djr g
Vvkj ckdh dk; ¢, 2 fnu e ijk djrk gh ;fn mudk
bl dk; dk dju d fy, 6000 #1; fn;k €, rk
if;d dh 1 fnu dh dekb fdruh gkxi\

5.

(a) ¥ 300, ¥ 250, ¥ 300
(b) ¥ 600, ¥ 400, ¥ 500
(c) ¥ 200, ¥ 300, ¥ 400
(d) None of these

A and B can do a work in 12 days,
whenever B can do the same work in 15
days. With the help of C, they all together
can complete the same work in 5 days. If
they get ¥ 6,000 for some work, find the
share of C in that?

A ,d dk; dk 12 fnuk e dj Idrk g tcfd B
mihk; dk 15 fnuk e dj Rdrk gt © di Igk; rk
I o IHh ,d Bk 5 fnuk e.mlid dk; dk 1jk dj
Idr gi ;fn mug fdlh dk; d fy, ¥6]000 feyr
g] rikmle c dk fgLBk Kkr djh

(a) ¥ 1,200 (b) ¥ 1,500

(c) ¥ 1,800 (d) None of these
Three persons undertake a piece of work
for ¥7500. First person can do it in 75 days
alone, second person in 40 days while third

person can do it in 60 days working alone
They did the complete work with the help

1
of fourth person in just 13 3 days. Find

the amount received by the fourth person.
riu 0;fDr 7500 e ,d dke djr gk igyk 0;fDr
bl doy 75 fnuk e dj Idrk g] nljk 0;fDr 40
fnuk e tcfd riljk 0;fDr 60 fnuk e dke dj

1
Idrk gh migku fH0 135 fnu e pkFk 0;0r dh
enn | ijk dke fd;l4 pkrk 0;fDr Hjk kir jkf*k

Kkr dijh
(a) T 1600 (b) 2000
(c) T 2500 (d) 2400

A, B and C together earn ¥ 150 per day
while A and C together earn ¥ 94 and B and
C together earn ¥ 76. The daily earning of
Cis:
A, B rik c feydj ifrfnu 150 #i; dekr ¢
tcefd A vkj c feydj ifrfnu 94 #i; rFk
B Vvij c feydj ifrfnu 76 #i; dekr g] rk
c ifrfnu fdru #1; dekrk g\

(a) T 56 (b) ¥ 20

(c) ¥ 34 (d) X75
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10.

11.

A, B and C are employed to do a piece of
work for ¥ 575. A and C are supposed to

19
finish 273 of the work together. Amount

sshall be paid to B is :
A, B rfk ¢ fdlh dk; dk 2 575 e dju d fy,

19
die ij j[i tirk gt A Vij c feydj — dle

23
ijk dj yr g rk B dk fdrun jkf* inku dh xb\
(a) 210
(b) T 100
(c) ¥ 200
(d) T 475

An expert, an average and a lazy labor work
for 7, 8 and 10 days respectively and they
together get ¥ 369 as labor charge. If the
ratio of their work done in one day is

111

—:—:— then how much the expert labor
3 4 6

gets?

,d fo'kiK] ,d vklr vij ,d wvkylh Jfed el
7] 8 vkj 10 fnu dj; djrk g vkj mlg ,d BkFk
e 369 #i; dk Jfed eY; feyrk gA ;fn. mud

Hjk ,d fnu e fd, x, dk; dk vuikr

ok] rk fo"k'kk] Jfed dk fdruh Zugkt*k ikl

(a) ¥ 120

(b) ¥ 102.50

(c) ¥ 200

(d) ¥ 143.50
2 men and 1 women can complete a piece
of work in 14 days, while 4 women and 2
men can do the same work in 8 days. If a
man gets ¥ 90 per day, what should be the
wages per day of a women?
,d dk; 2 i#k vij 1efgyk 14 fnuk e ijk dj
Idr g tcfd 4 efgyk, vij 2 1#% mlh dk; dk
8 fnuk e ijk'dj ldr gb ;fn ,d i#k T90
ifrfnu wkrk g] rk ,d efgyk dh ifrfnu dh etnjh
fdruh gkuh pkig,\

(a) ¥ 48

(b) ¥ 60

(c) T72

(d) ¥ 135
5 men and 3 boys can complete a work in

7 days while 9 men and 5 boys can do the
work in 4 days. If total amount of ¥6000

°°\
'1_h‘|_.
/O\‘I—l

gh

12.

13.

is given to 6 men and 4 boys for doing
work in 6 days. Then how much a boy has
been paid in one day?
5 vineh vkj 3 yMd ,d dk; dk 7 fnuk e ijk
dj Idr g tcfd 9 vkneh vkj 5 yMd ml dke
dk 4 fnu e dj Idr gt ;fn 6 wvkneh vkj 4
yMdk dk 6 fnu dd dk; dk oru 6]000 #1;
fn;k x;k rc ,d yMd dk ,d fnu dk oru D;k g\

(a) ¥ 100

(b) ¥ 300

(c) ¥ 200

(d) ¥ 400
A can do a piece of work in 60 days, B in
40 days, and C in 12 days. They work for
a day each in turn, that is, first day A does
it alone, second day B does it alone, and
third day C does it alone. After that. the
cycle is repeated till the work is finished.
They get ¥ 270 for this job If the wages are
divided in proportion to the work each had
done, find the amount A will get?

A ,d dk; dk 60 fnu e djrk g] B 40 fnu e
djrk ‘g .rikk ¢ 12 fnu e djrk gi if;d 0;fDr
chjtéckih 1 ,d fnu d fy, bl idk dk; djr g
fd A gy fnu dk; djrk g] B nlj fnu dk;
djrk g v c rilj fou dk; djrk g vkj bl
idkj tc rd dk; leklr ugh gk tkrk o dke djr
Jgr gt mudk bl dk; d fy, 270 fn; thkr gh
dk; d vulkj ;fn mudk #i; fn, t, rk A dk
fdru -i1; fey\

(a) ¥ 14

(b) ¥ 36

(c) T 24

(d) ¥ 27
The daily wages of A and b respectively are
¥ 3.50 and ¥ 2.50. When A finishes a
certain work, he gets a total wage ¥ 63.
when B does the same work, he gets a total

wages X 75. if both of them do it together
what is the cost of the work?

A Vvij B nfud etnjh @efh ¥3-50 vkj T 2-50
gh tc A dke ijk djrk g rk mlI dy oru ¥ 63
feyrk gh €tc B leku dk; djrk g rk ml dy
oru 75 feyrk gh ;fn o nkuk bl ,d Ik djr
g rk dke dh ykxr D;k g\

(a) ¥ 67.50

(b) T 27.50

(c) T60.50

(d) ¥ 70.50
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14.

15.

X, Y and Z have undertaken to complete a
piece of work for ¥ 4,800. All the three
together can complete the work in 82

days. Y and Z together can complete the

5
work in 15 9 days. X and Z together can

8
complete the work in 12 — days. Find

the difference between the shares of X and
Z.

X,Y vk z u fdlh dk;
fy;k o ruk ,d Ik dk; dk dnuk e
IekIr dj Idr gh Y vij z ,d Ik dk; dk

5— fnuk e IekIr dj ledr gt X Vij z ,d

Bk dk dk 12— fnuk e lekir dj Idr gh

X rfk z dk feyuloky fgLl e vrj Kkr dift,A
(a) ¥ 1200
(b) T 1500
(c) 900
(d) T 600

dk ¥4]800 e dju gr

3
8 —
4

13
A and B have to do 15 of a work, working

11
together, B and C have to do 20 of the

16.

same work. If the difference between the
wages of A and C is ¥7600 then find the
wages of A, Band C together'-‘

A rfk B dk ,d kR feydj — Hkkx dk; djuk

g Vij B rfik ¢ dk feydj 2—(1) Hix dk; djuk
gh ;fn A vk} B dh etnjh dk vrj ¥ 7600 g]
rk A, B rik ¢ dh dy etnjh g &

(a) ¥ 24,000

(b) ¥ 18,000

(c) ¥ 36,000

(d) ¥ 56,000
3 engineers and 4 dancers can earn X 756
in 7 days. 11 engineers and 13 dancers can
earn ¥ 3008 in 8 days. In how many days

will 7 engineers and 9 dancers can earn
%1736

3'bthfus;j vk 4 Mkly 7 fnuk-e T 756 dek Idr
gh 11 bthfu;j vkj»13 Mklj 8 fnuk e ¥ 3008
dek ‘Idr gh 7 bthfusj vkj 9 Mklj fdru fnuk e
T 1736 dek.ddr g\

(a) 9

(b) 11

(c) 7

(d) 8

1. (d)

3.(a)

4. (b)

5. (b)

6. (b)

7.00) | 8.() | 9.(d) | 10.(b)

11.(a)

13. (a)

14. (c)

15. (a)

16. (c)
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